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Parer 11

(Soc10LOGY)

1. Foucaultfocused on which set of the institutions
in his study on crime, body, madness and sexuality?
(A) Kinship, Market, Race
(B) Prisions, Hospitals, School
(C) Bureaucracy, Kinship, Family

(D) Hospitals, Industry, World Trade
Organisation

2. Which one of the following districts has the
highest concentration of tribal population in West
Bengal?

(A) Purulia

(B) Alipurduar

(C) Dakshin Dinajpur
(D) Darjeeling

3. Who propounded the ‘third wave’ concept in
the context of information society?

(A) Alin Toffler
(B) Manuel Castells
(C) James Martin
(D) Tom Stonier

4. What does digital divide refer to?
(A) Income gap between rural and urban India

(B) The gulf between those who have and who
do not have access to I.C.Ts

(C) Equitable diffusion of information among
all social groups

(D) Gapbetweenthe developed and developing
countries

5. Which of the following is considered Merton’s
methodological and institutional mandate?
(A) Communism
(B) Universalism
(C) Disinterestedness
(D) Organized scepticism

1. S7=1", (2, S5l € (JTel-a SR T
R @ @i 2D T TEFATS 0 2

(A) SRS, JieTs, ife

(B) FA<cHlig=IaNg, gisiioe, fKmler
(C) wIweTeg, SRsl, #Ifa
(D) 2sirele, g, e Qfeley A<l

2. ARSI (I (SIS ST S TR SoaeTg
T 2
(A) sffomal
(B) wferefzrgs
(C) w=re [erersi
(D) wifgfer

3. A GITEGe wificafFee ‘Ad ere-93
7N & s 2

(A) Q. 5FerF
(B) . A
(C) (&. Nfoa
(D) 5. o=

4. o= fTeize-va wigl @A 2
(A) 2 € *ZF SIS N SNEL I8

(B) Titva w3, F1.f5.-(® 2tz Feaior stz s
(CEY

(C) A ANEE (D T2 ST AN
(D) TFS € SIS (AT WKy (IF

5. TEa @G AHET Awfors € Afeoe [
=1 e 23

(A) el

(B) TTfermiifere

(C) TCEZ BTG
(D) wsfiizere EieifbHre
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6. When was the first science policy formulated by
the Government of India?
(A) 1956
(B) 2003
(C) 1958
(D) 2019

7. Who among the following underlines the
significance of public sphere in democracy for
articulating need of the society in relation to the state?

(A) Jurgen Habermas
(B) Manuel Castells
(C) Max Weber

(D) Anthony Giddens

8. According to UN Charter, Right to development
is an inalienable human right of the people that enable
them to participate and enjoy—

(A) Economic and Social development
(B) Social and Political development
(C) Economic and Cultural development

(D) Economic, Social, Cultural and Political
development

9. Which of the following pairs is incorrectly
matched?

(A) Rural : Homogeneity

(B) Urban : Heterogeneity

(C) Urban : Closeness and We-feeling
(D) Rural : Face-to-face relations

10. Secularism in India denotes—
(A) Promoting majoritarian religious beliefs
(B) Promoting minority religious practices
(C) Separating religion from politics
(D) Giving all religious groups equal rights
and opportunities to uphold their religious
beliefs and practices

6. SITS FFFA @ A AN [eew Sife o
R ?

(A) 1956
(B) 2003
(C) 1958
(D) 2019

7. FwfeRe miereifesmE e & sitreg ol
P - a7 Sles ANF »IfafFrs Tites arere™
S 90T A2 2

(A) (& I
(B) @%. I
(C) @3, SR

(D) «. foite™

8. AGoE ifers SR, TR S 2 Te1q
ST GO SR 5 G OO SR 8 ToATStaf
FACS TAF AR FE—

(A) TIgfes ¢ AMIE Taze

(B) Ao @ Ao Szl

(C) witafos ¢ Aigfos T

(D) wietafes, AANess, Acghos ¢ qretares
ICERD

9. faxfie @in @et AT A 72
(A) QI ¢ RTEG
(B) W ¢ ZoiITE G
(C) SR ¢ @FeTcrl Sie Te-frfer
(D) = 2 -G Remiat

10. S gfeacerFel-g il (@ 2
(A) TRAMTEHE REASRTE Senfze w1
(B) TR 437 Wb Seize i
(C) 43 Aeife (A ey w4
(D) & 4w (GNPl AN SR g9
A5 ARl 1, 0o O I L Rl
@ GBI IS S A




11. Whichone of the following is not correctrelating
to morality?

(A) It is a body of principle concerned with
goods or evils.
(B) Itis accepted at large in a community.

(C) Itisrepresented through customs, fashions,
conventions.

(D) Itis universally applicable.

12. The belief in the spirits of the dead, those are
supposed to be inhabiting in trees, plants, lakes and
rivers etc, to communicate with man is called—

(A) Totemism
(B) Fetishism
(C) Superstition
(D) Animism

13. Who divided the groups into horizontal and
vertical?

(A) D. Miller
(B) C.H. Cooley
(C) F. Tonnies
(D) G. Simmel

14. Who classified group into dyad and triad?
(A) P. Gisbert
(B) G. Simmel
(C) A. Giddens
(D) K. Marx

15. Who propounded the ‘Social Construction of
technological systems’?
(A) Latour and Callon
(B) Bijker and Pinch
(C) Castells and Lyon
(D) Wajcman and Pinch
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11. fsfie @ Wiowoi gFe qreel 12

(A) 96 =7 GPYPE St WAF AR {77
oifFe TS |

(B) 51 ANEAFSIC T2 S o] 217 |

(C) @61 Sifs, Fia ¢ #pfere yiraw afsfiayg
DA

(D) B! FLG LTSI |

12. i1 61 27 @ Yo Jfed wa SHfEfe i,
ST, SR € ice RWysla 2T @ I G TR
S @9PIE Cofd 21—

(A) (BICHTRIE™
(B) =frem
(C) AARRGIN
(D) =niffes

13. (I SR € TATSIE (& iee Fares ?
A) fS. fiemm
(B) ™. @2p. 1
(C) . B
(D) f&. Pre=

14. (P Fa ©IES @ FIEe a3 @fkRken @
AT ?

(A) . femais
(B) T&. Picwe
(C) Q. foiteem
(D) . NFA

15. ‘G IFEIHNT O GRS Pres
7157 oS &2

(A) FN5 93R FIE
(B) Re=siz @z &1
(C) FTTEM @R o
(D) TN @R 215
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16. Which ofthe following books is NOT written by

D. N. Dhanagre?
(A) Protest and Change
(B) Peasant Movements in India

(C) Themes and Perspectives in Indian

Sociology
(D) Populism and Power

17. Match List-I with List-I1 :

List-1 (Books) List-1I (Authors)

(a) The Household (i) K. M. Kapadia
Dimension of the
Family in India

(b) Marriage and Family (ii) A. M. Shah
in India

(c) World Revolution (iii) I. P. Desai
and Family Patterns

(d) Some Aspects of  (iv) William J. Goode
Family in Mahuva

Codes:
@ M () (@
A) Gy @ aGv) (i)
B) i) G @ (Gv)
© O aGv) G (i)
D) Gv) @ Gi) (a6

18. Who among the following does not accept the

village as a useful unit for Sociologies Study?
(A) L. Dumont
(B) F. G. Bailey
(C) A.C. Mailer
(D) M. N. Srinivas

19. Which one of the following Articles of the
constitution of India specifies Scheduled Tribe status

of a social group?
(A) Article 325
(B) Article 342
(C) Article 370
(D) Article 377

X-6
16. oA @ A2 6. @, qieliE= @ w92
(A) (AT S (56
(B) (AT [0 2 3w
(C) fa™ wrs ARTHFHed 2 e
GRS
(D) As{feter SIS 2HeTF
17. ©IfEm-1-93 A Oferm-11-93 e (74l 2
o (32) ORI (T3F)
(a) T aeTET () & 9% JNfeH
TR o<
wifafer 27 B
(b) s opie Wik (i) <. 9. =g
B B
(c) ST (Fefere=a (i) 3. 7. =iiE
I e 25T
(d) A SAPATASR (iv) TR, (. B©
FHiffer 2 wizel
(1T 8

(@ b © @
A) Gy @ Gv) (i)
B) Gi) G @ (Gv)
© ® @Gv) @G (i)
D) Gv) O @) (1)

18. 5 2e TIerelfeFma N (& 2AlNCE ARG
OFF TR SPTRICR CGq 2120 IR ?
(A) @1 T
(B) «@=. . @3
(C) @. P [T
(D) @, @<, Afa

19. @ ANMEE (T ool Tormife e
e F0a oo MR i 4= 2

(A) &1 325
(B) 41 342
(C) @i 370
(D) @il 377




20. Who is the author of the book titled ‘Regional
Differences in Family Structure in India’?
(A) A.M. Shah
(B) Paulive Kolenda
(C) 1. P. Desai
(D) Irawati Karve

21. Whohas written the book ‘The Origin of Family,
Private Property and the State’?
(A) L. T. Hobhouse
(B) G. P. Murdock
(C) F. Engels
(D) L. H. Morgan

22. The ‘Happiness Index of Development’
originates from the Gross National Happiness Index as
initially developed by the Government of

(A) India

(B) Bangladesh
(C) Bhutan

(D) Nepal

23. Which one of the following scholars has
identified four ‘Kinship Zones’ of India?
(A) K. M. Kapadia
(B) Irawati Karve
(©) G.S. Ghurye
(D) A.M. Shah

24. Which one of the following statements is not
correct on the theory Cultural Lag?

(A) Parts of culture do not changes of the same
rate.

(B) Some parts of culture changes more
rapidly than others.

(C) Rapidchangeinone partof culture requires
adjustments with other parts.

(D) All parts of culture are independent.

X-7

17-11
20. TfEramIe [CRIEEm 2 ififer Fip 2 2
BT GT4T &2

(A) @ @ *1g
(B) Tl (iteTesl
(C) =3, 1. @i
(D) =%, FS

21. Tt wiffem @ wiffe, aiEret asxb ome @
(00’ ACFF BTl (F 2
(A) @1, . 2357
(B) f&. fot. wws
(C) 9%. Gz
(D) 9s. G3p. TR

22, ‘O] AR FIFAE] 2ACCH (AT (I FT
AT ZAET ZACH O (TS (Sf e ?
(A) ©lFe
(B) et
(C) o
(D) (91T

23. fsfEie @i sifes Siared ol i@ @i
oize sl 2
(A) . a¥. FiAfea
(B) TS, IS
(C) f&. @1 9@
(D) €. g%, W1z

o e e fa =

24. TSI &5 O0g (Fq MRS (i [T
Ao w2

(A) cgfon wsTR TR #Afafew 2 |

(B) wcgfon forg wieel Syl Siceiesfer gereia
ws 27 +ifFafSe 2|

(C) segfon @b Sk wo ARMTEETR &
P SRR 0 AN G |

(D) A<HoR 7T BeHE FIA |
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25. Who has distinguished between ‘family of 25. wiffE s efRmessa ¢ Fhfferse cfeamse-
orientation’ and ‘family of procreation’? aF Wy AN (& I 2
(A) E. A. Westermarck (A) 3. @, SEBIENE
(B) L. H. Morgan
(C) B. Radcliffe-Brown (B) . 5. A
(D) G. P. Murdock (©) fa. wrefr-area
(D) f&. fo1. 6=
26. Which among the following is true? 26. A @G AT
(A) Individuals of same Gotra cannot intra- (A) 932 (slicad feal Fealica @z Fa0e @
marry. ol
(B) Individuals of same Gorta canintra-marry. (B) @Il @6 (olican Tfeal Feolica [am
(C) Individuals of a Gotra can marry A0S AN |

consanguine kin.
(D) Individuals of a Gotra can marry distant

(C) @I @ (oNtas fe W6 s Az

Kin. FICO AT |
(D) @I @3 (oiieas e @-TolF = SnSies
T<alR TS I |
27. The Sharda Act of 1929 27. 1929-43 AWl =Nz
(A) permitted widow remarriage among (A) 2™ RAImR ﬂqﬁq]g ST A |
Hindus. = . (B) JrmReR Wl e |
(B) abolised child marriage. C o
(C) permitted inter-caste marriage. © - X el
(D) permitted inter-community marriage. (D) Wl g SR e
28. Hindus consider marriage as obligatory because 28. gl RS SReeesy Reasat e, S
(A) it is important for harmonious relations A) @ 7fo e s W B Tl
between sexes. Srach

(B) sexual gratification outside marriage is sin.
(C) the birth of a son is necessary for the

(B) azafzegs (@we @ e |

discharge of obligation to the ancestors. (©) AT o W‘*lj%'\ﬂ AEET & -
(D) marriage is a precondition for entering 71\“-31(.»1?1 e S | o
into ‘Garhastha Ashrama’. (D) 5I12Z SNHEGT AEACT 7<% =e7 IREIEY
29. Polyandry may be classified into two groups. 29. R 90 @&e ©ie T 7 | Gl 28—
Which among the following is that? (A) @ETSEB 3R AEIED

(A) Levirate and Sororate

(B) Adelphic and Non-adelphi ®) e
elphic and Non-adelphic
C Gkl UEK
(C) Hypergamy and Hypogamy (©) 2R jﬂﬁ N iﬁt‘?ﬁﬁﬂﬁh
(D) Cross cousin and Parallel cousin (D) T Pl QR AT e
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30. Match List-I with List-II: 30. ©IferaH-= A ©lfersp-II-3 e (i 8
List-1 (Organisation) List-1I (Leaders) IR (¢ 5737) P (D)
(a) Arya Samaj (i) Jyotiba Phule P
(b) Prarthana Samaj (ii)) Dayanand Saraswati (2) = e @ WW
(c) Satyasadhak Samaj (iii) Atmaram Pandurang (b) AL T (if) I Tt
(d) Ramkrishna Mission (iv) Gopal Krishna (c) TP aler (iii) SN AT
Gokhale (d) e (iv) CoNeiTeT e (siiceat

(e) ger\./ents of Indian (v) Swami Vivekananda © HrET v B W) 150

ociety

Codes: IR
@ @ © @ (@ e

@A o G Gn 3Gy W) (?) (P.) (C) (.d) ©

B G @) @O ) (Gv) ) (.1.) (.1.1.) (lTl) ) (?,)

© (v Gv) G G 3@ B (TH) (l) (.‘f) (%V)

D) G @O @) () @G @ o Gu @ O

D) G @ G (v Gv)

31. Find out the correct answer from the Assertion

31. Swd 7%?7\9 (Assertion) 'S J[& (Reason)-a3

given in (A) and the Reason given in (R): TE Blofw e ¢
Assertion (A) - In_ the ~ post-economic | gums (s corion) ¢ SieIEaTE- ST SRR
liberalisation period India’s .
. - SR P ol q2ices I A |
contribution to carbon emission )
has considerably increased. (& (Reason) ¢ Tt foq v elmoa i@t
Reason (R)  : Inlast three decades proportion PRPIPIE MR SATS ZPieiy
of people living below poverty 7|
line in India has declined. SF (@S5 <o e 2
Select correct code for the alternative given below: (A) (A) € (R) T3z AT @32 (R) =7 (A)-<7
(A) Both (A) and (R) are correct; and (R) is the ){% '
reason for the (A). (B) (A) € (R) Texz 7 € (A)-= 7@‘62{%
(B) Both (A) and (R) are correct; but (R) is not (R) 93|

the reason for the (A).
(C) (R)is true but (A) is false.
(D) (R) is false but (A) is true.

(C) (R) o< 52 (A) we |
(D) (R) = 5% (A) 03|
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32. Find out the correct answer from the Assertion
given in (A) and the Reason given in (R):
Assertion (A) : Criminalisation of politics has
been an increasing trend in
Indian Political Culture.

Reason (R) : There income desparity has

been widened in India in the
post liberalisation period.

Select the correct code:
(A) Both (A) and (R) are correct and (R) is the
reason for (A).

(B) Both (A) and (R) are correct but (R) is not
the reason for the (A).

(C) (R)is true; but (A) is false.
(D) (R) is false; but (A) is true.

33. The Tebhaga Movement (1946-47) was
influenced by the ideology of—

(A) K. Marx

(B) M. K. Gandhi
(C) R.M. Lohia
(D) B.R. Ambedkar

34. Which State of India experienced anti-Brahmin
movement in 1920s and onwards?
(A) Bihar
(B) Gujrat
(C) Tamilnadu
(D) West Bengal

35. Who among the following is the proponent of
‘moral economy’?

(A) K. Marx

(B) M. Weber

(C) E. P. Thompson
(D) E. Said

X-10

32. A3 [ (A) € e (R)-a7 s A< Tealo
e (77 T ¢

R (A) & SO A AT ST

Aeaifowad TR Jia Aoz |
I (R) ¢ TEa-Tnidieae ANIPIE SIS
SR (I3 Jhan CoARCR |
T T 757 P ¢

(A) (A) ¢ (R) Teg 7% 4k (A) 1 Tf& =1 (R) |

(B) (A) 8 (R) Tux2 A5 f5g (A)-7 705 Ife
(R) 74|

(©) (R) Af=; 5% (A) T |
(D) (R) oo1; 5% (A) Al |

33. (TSNS (1946-47) FTSMe 7 Aol
2R ?
(A) . W
(B) 9. . if&
(C) 4. <. ¢z
(D) f. =13, Sawea

34. SITeAEI (@ A0S 1920 7T 8 S| TR
NRRIBIEE Tzls}s(.%n ICWIeTe] RS 3\‘3 Q_C?ﬁ?ﬁ'f?

(A) ==
(B) @&t
(C) SIfieTIg
(D) o5t

35. faxffema Ty fes weaife’s oet & 2
(A) . A
(B) @3, €RAE
(C) 2. 3. &5prs
(D) 2. ¢iz®



36. The civilizational and cultural orders relate to
the—
(A) Order of means and ends respectively
(B) Order of ends and means respectively
(C) Order of means only
(D) Order of ends only

37. Who among the following considered culture as
the handiwork of man and as the medium through
which he/she achieve his/her ends?

(A) B. Malinowski

(B) F. Boas

(C) A.Radcliffe-Brown
(D) T. Parsons

38. Select the correct statements from the ones
given below:

1. Construction of cultural identity is an integral
partof collective mobilisation of new social movements.
2. Construction of cultural identity is an integral
part of old social movements.
(A) 1is correct and 2 is wrong
(B) 2iscorrect and 1 is wrong
(C) Both 1 and 2 are correct
(D) Both 1 and 2 are wrong

39. Which of the following is not correct one?
(A) Village has more joint families.
(B) Village is structurally heterogeneous.
(C) Village is a primary institution.
(D) Village is a community.

40. Which one of the following is not a function of
the Gram Panchayat?

(A) Maintenance and construction of water
resources, road, drainage and school
building

(B) Adjudication of justice on gender issues

(C) Leving and collection of local taxes

(D) Execution of government schemes meant
for local areas

X-11
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36. Tore! ¢ AF e &=l (Orders) o wa—
(A) NG BT (means) @ 2N (ends)
Xelel
(B) TG AR @ SR *eleTl
(C) RETIg TAIR =jefen
(D) @I AR el

37. & AFOT WEpR WE et R ©F o
SR N BT Kol seafeer 2

A) & ifemz

(B) . (A

(C) Q. JIelFT-Ars
(D) 5. sz

38. Tiwa R[Rgfouf 2w Afis Teaf @ e ¢

1. Aegfos #(fffe fufie 21 < e sicme
MBere @Faeael (collective mobilization)-43 @6
SRR o7 |

2. Acgfos sAfafbfe ffld & Aeaier i
SR SRR S5 |
(FIT ¢
(A) 1% 7M0F 2 =1 ga
(B) 2z A 1 2o &&
(C) 1€ 2 Toxz s
(D) 1€ 2 Te32 ge

39. va @ W Al w2
(A) &It @RPRAF (@1 27 (|
(B) &I z&1 FloHISToSI foqyd |
(C) &N 21 @36 A Ao |
(D) &1 25 G T=2W |

40. T @G &N QR FIST T3 ?

(A) TEpT==w, FreED, i 7ag @ wler
SR TN @ Tl

(B) ferst s1o1riz 72igel spafan|
(C) BT 4 I 8 AT
(D) TN G AT AP oAl
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41. Paradigm refers to—
(A) A set of hypotheses
(B) A set of concepts
(C) A set of assumptions
(D) A set of theories and methods

42. Who has called the family the ‘primary group’?
(A) G.P. Murdock
(B) C. H. Colley
(C) C. Levi-strauss
(D) S.F. Nadel

43. Arrange the following books written by Emile
Durkheim in chronological order:

(i) The Elementary Forms of Religious Life
(i) Suicide
(iii) The Division of Labour in Society
(iv) The Rules of Sociological Method
Codes:
A Gv) G @) @
B) i) @Gv) @ @O
© Gv) (@@ () (i)
D) G Gv) @ ()

44. Which one of the following represents the largest
tribal group in West Bengal?
(A) Bhill
(B) Oraon
(C) Santal
(D) Munda

45. The Rights of Persons with Disabilities, 2016
Act has stipulated reservation of disabled persons in
government jobs to the extend of—

(A) 2%
B) 3%
©) 4%
D) 5%

X-12

41. AT FeTce @RIT—
(A) @30 2@ (16
(B) @5 «=ei-7 ¢i6
(C) @b SRIN=-93 G5
(D) ©€ @ *@fed GFh G16

42. AR AAE (I ReTa e FfeE & 2
A) & & es
(B) 1. «3p. I
(C) ™. e
(D) @, . T

43. «fieT TUfEw afbw 2T ST Al 8
() T afeesifs = w9 e @iz
(REYIEY
(i) 7 fefexm w1 Taig 2 eI
(iv) T w1 o1 erfesies @ee
PG &
(A) Gv) @) @) @)
B) G av) @) @)
©) @Gv) (@) G (i)
(D) @) @Gv) @G (@)

44. RS0 FEGRe ToAES (ol (I 2
(A) O
(B) €a1e
(C) rewls
(D) Yol

45. T FZHA 7 AR 022 fEafferbe, 2016
e Reagei s Ffeaceld @wg =i srfce
PO *OIRH MTF I 41 2R ?

(A) 2%
(B) 3%
©) 4%
(D) 5%




46. According to Weber, India is lagged behind in
fostering rational capitalism because of
(A) Hinduadherence tothe doctrines of Karma,
Dharma and Sansara.
(B) cultural diversity.
(C) persisting economic inequality.
(D) persisting gender and regional inequalities.

47. Who among the following defined culture as
“thatcomplex whole which includes knowledge, belief,
arts, moral, law, custom and any other capabilities and
habits acquired by man as a member of the society”?

(A) B. Malinowski

(B) E. B. Taylor

(C) E. Radcliffe-Brown
(D) R. K. Merton

48. Bring out the features, which characterise urban
social relations:

1. Face-to-face contact
2. Impersonality
3. Informality
4. Superficiality
Codes:
(A) 1,2and3
(B) 2and 4
(C) 2and 3
(D) 2,3 and 4

49. Who is associated with the ‘Orientalism-
Occidentalism’ debate?

(A) Pierre Bourdieu
(B) Edward Said

(C) Gurgen Habermas
(D) Clifford Geertz

X-13
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46. SERIEINCS, &AM Gz Rl Seq=
foife o e 2
(A) o, 45 ¢ AL FFe v Teawe 2ffe

@

(B) cghes tafba
(C) Tdtfes (R dRRIfRTe!
(D) fort @ wiedferss (aena qiaifEzEel

47. & G2 el Trfee @, g 21w e
T2 S AT, o, b, 111, 7, S5 =Te gfe
iR ARG Sre QfREH SRS AR e e
= (TFE o 1 ETAiEG 2

A) & ez

(B) 3. 7. (b%em@

(C) 3. TieFw-ared
(D) SI4. (. WG

48. iz ARG Teicda (A E el fmfefe wiferel
(AT (T e ¢
1. SRR @99 (Face-to-face contact)
2. Tl (Impersonality)
3. wffg@ae! (Informality)
4. S9! (Superficiality)
(PTG 8
(A) 1,2¢3
(B) 2€4
(C) 283
(D) 2,3¢4

>

49. “‘sfaroiieN-sRiesies e 7o T
TN IS ?

(A) ol afd

(B) 2. (2w

(C) f&. @™

(D) ™. Pobe
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50. The Rajbansi Movement as spearheaded by

Panchanan Royburman, aimed to secure which one of
the following for the Rajbansi people?

(A) Land rights

(B) Khatriya (Rajput) status

(C) Brahmin status

(D) Gender equality in society

51. The children of siblings of same sex are called
(A) Cross-cousins
(B) Parallel cousins
(C) Affines
(D) Cognates

52. ‘Stem family’ stands for
(A) Joint family
(B) Small extended family
(C) Spatially extended family
(D) Family of corporate business houses

53. Find out the correct answer from the Assertion
given in (A) and the Reasons given in (R):

Assertion (A) : Performances of Indian
sportsman has significantly
improved in International
sports.

Reason (R) :India now experiences high
concentration of youth in its

population composition.
Select the correct code from below:

(A) Both (A) and (R) are correct; and (R) is the
correct for the (A)

(B) Both (A) and (R) are correct; but (R) is not
reason for (A)

(C) (R)is true but (A) is false

(D) (R) is false but (A) is true

X-14

50. ACRA GCADIF o Fwd (@ [l ke
FCS ALl AT AT SIS (g et 2
(A) GhE Sl
(B) ¥ (Frerf©) Wil
(C) armeyy sl
(D) ferst-aArsyel

51. @32 T widfle SioE [t @Iema TeHma
Jt o7 =W 2
(A) F-ife
(B) eInaetiet e
(C) ifee
(D) 55

52. ‘Gow wIfNfer T ce @RE—
(A) &% TNl
(B) 1 GIHCwe Hifsfet
(C) cifmifer eabroe wifuf
(D) T =@ FeAfas [Keem =S

53. iR ﬁ@% (Assertion) @ I[& (Reason) (ATH
Ao Tl s e
Ao (A) ¢ ST feT FICIHFEG ST
Feifmme el Srariisy Tafe
T2 |
2 I SR G JIFWR
Gy i@ (AR |
I (Pl 5 P 8
(A) (A) €% (R) To78 AlST; @R (A)-4F AGE
& =1 (R)
(B) (A) € (R) Texg ;58 (A)-a & (R)
& a3
(©) (R) 7 f5e (A) go
(D) (R) &= &% (A) o

i (R)




54. Find out the correct answer from the Assertion
given in (A) and the Reason given in (R):

Assertion (A) : India experiences increasing

trend of rural-urban migration.

Reason (R)  : Land-manratiohas significantly

declined in rural India in recent
decades.

Select the correct code from the alternative given
below:

(A) Both (A) and (R) are correct and (R) is the
reason for (A).

(B) Both (A) and (R) are correct and (R) is not
reason for (A).

(C) (R) is true, but (A) is false.
(D) (R) is false, but (A) is true.

55. Irawati Karve’s analysis of Indian social relations
based on Indological approach was influenced by—
(A) M. N. Srinivas
(B) I. P. Desai
(©) G.S. Ghurye
(D) Patrick Geddes

56. Which of the following books is NOT authored
by M. N. Srinivas?
(A) Indian Village
(B) Social Change in Modern India
(C) Remembered Village
(D) Caste in Modern India and Other Essays

57. B. R. Ambedkar adopted Buddhism in quest
for—

(A) Social Change
(B) Social Equality
(C) Social Empowerment
(D) Social Inclusion

X-15
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54. o7 ﬁ@% (Assertion) @ I[& (Reason) (AT
AoF Tl e e ¢
RIE(A) ¢ SRS oS (AF * 2 SSIPAER
el B |
g Areifos mipeiice ol Sireac
IERRGE RO RIS RGES ()
IEICR |
I (PS> 5 P 8
(A) (A) 3R (R) To2 A5 @R (A)-7 If& =5
(R) |
(B) (A) 9% (R) T2 AT @32 (A)-23(& (R)
T
(©) (R) 5, 58 (A) @A |
(D) (R) o4, 5% (A) 555 |

& (R)

55. CiRveiies ek fofere oeR AMEH
TR ([ R TR FICS FCARER CIOHE IR
A7 e ?

(A) 9. @, |
(B) =3, 1. @i
(C) f&. @1 9@
(D) 7. colte™

56. SI57 (@ 736 @, G, MEAA-9F @ T 2
(A) oM foreTe
(B) GIMIET (58 2 TGl 3l
(C) Ferare forers
(D) I 3 TG 2G| S M G

57. 9. 93, SCEea (a4 2429 FEREE J & 2
(A) e AAfgada
(B) A& A=y
(C) AN o
(D) AT Teeie
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58. Which of the following is NOT an element of
Neoliberalism?
(A) Market fundamentalism
(B) Maximisation of profit
(C) Emphasis on social justice
(D) Enhancement of growth and efficiency

59. Match List-I with List-11

List-1
(Concepts)

List-11
(Sociologists)
(a) Social Economics (i) Emile Durkheim
(b) Cultural Capital

(c) Embeddedness

(i1) Mark Granovetter
(iii) Max Weber

(d) Social Integration (iv) Pierre Bourdieu

Codes:
@ ® © @@
(A) (i) @Gv) G @)
B) @ aGv) @) (@)
© G @@ Gy (D)
D) Gv) @Gi) @ (D)

60. Who of the following is NOT associated with
the “Theories on Consumption’?
(A) Jean Baudrillard
(B) Thorsteen Veblen
(C) Pierre Bourdieu
(D) Karl Polanyi

61. Who has related the functions of (social)
institutions to the biological needs and purposes?
(A) Carr-Saunders
(B) R. G. Collingwood
(C) B. Malinowski
(D) E. Durkheim

X-16

58. A (@0 THSHITAWE TolFe 7712
(A) JASIEF T TS (0 Bat
(B) IR b5 I
(C) ANET T-9F €27 @Fg
(D) 3fa e Fhrweld sifsada

59. OIfel-3-a 7 Siferl-2-a9 e @72 ¢

©IfFR-S (07) CIfeR-2 (TAEelER)
(a) GRS (i) 2 gdfEw
(b) FlesileT IFH0E (i) «¥. et
(c) EATTGE (iii) <@, e@AE
(d) G 3fBeaE (iv) fol. fer

PIE 8
@ M () (@
(A) (i) (@Gv) @) @)
B) @ aGv) (@) (D)
©) @) @) aGv) (D)
(D) av) i) @G 31D

60. T3 (I TG TR S FaAw 797 A0
TG T ?

(A) (& I
B) . s
(€) M. e

(D) G&. (ol

61. AT 2SO AR FRIFHAAT A (&<
vifent @ S e FeafeE 2

(A) FIF-TrERT

(B) w7 f&. sfic®e
(C) R. syifeTct®
(D) % weiEw
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62. Match List-I with List-II 62. SIfeTRI-5-43 A Oiferhl-3-a7 e (2 3
List-I List-II OIS (FErelgR) el (8w-561)
(Sociologists) (Village Studied) (a) <@, G e () M=’
(a) M. N. Srinivas (1) Shamirpet (b) €. (OB (ii) o
(b) A. Beteille (ii)) Rampura (©) . ﬁl.kj@ (Gii) R a1
(¢) S.C.Dube (ii1) Kishan Garhi (d) @, (iv) ﬁm

(d) Mckim Marriott (iv) Sripuram
(FI ¢
Codes: @ © ©
(A) @) @@ @Gv) (D)
B) Gv) Gy (@) i)
© G Gv) @) @
D) aGv) @) () @)

(@ @b © @
@A) @) @ Gv) (D)
B) Gv) ) @) (i)
© G aGv) G  ®
D) @Gv) ) > (@)

63. According to Manual Castells, the society that 63. RIS FICIETS A0S, (F A& - NS 7
has emerged out of interpenetration of € THREL AYfe Eg\g IEE O zjzl‘?f%?.m—
telecommunication and internet technology (A) RroulFRss
essentially—

(A) Feudalistic in nature (B) GifErs
(B) Socialist in nature (C) FfCHifzR
(C) Communitarian in nature (D) fefetret Fifsbifers

(D) Digital capitalist in nature

64. From among the following who has argued that 64. @ @E-CG F0F1 T (@ IETS—3
the sources of conflict in the role-set are structural? Vo ATF F 2
(A) T. Parsons (A) . oz
(B) R. K. Merton
B) Wi (3. Wb
(C) S.F.Nadel (B)
(D) C. Levi-strauss (C) 1. . A
(D) f1. @Tfe-2A

65. Snowball sampling method is a type of— 65. ‘XIS W‘*’fﬁ!i’ Aa[O 3] GF Lq(IT—

(A) Probability sampling (A) FGR-TST T

(B) Non-probability sampling

(B) TBRN-SIfSH T
(C) TGS (AL T
(D) TR SR
[ Please Turn Over ]

(C) Stratified Random sampling
(D) Purposive sampling
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66. Match List-I with List-I1 : 66. SIfTRI-5-43 % Oiferhl-3-a7 e (2 3
List-I List-II OIS (1ale) OIaI-R (AEGT)
(Methods) (Sociologists) () SIHEZOETE ALEF (i) O¥. SFA
(a) Participa.nt (1) Max Weber (b) @ ATH-RE= (i) @ @
observation
(b) Indirect experiment (ii) Auguste Comte () G (iii) 1. ifEwtE
(c) Objectivity (iii) B. Malinowski (d) 7am (iv) 2 wuiEw
(d) Positivism (iv) E.Durkheim Ao (e fFiba v 3
Selected the correct answer from the codes given below. SRR
Codes: @ ® © @
@ M () (@ (A) () (@) dii)  (iv)
A @ () @) (>Gv) B) (i) (i) @Gv) @)
B) @G Gi) Gv) @ (©) Gii) (Gv) (@) (i)
© Gi) (v @ (G O (v G G Gi)

O Gv) @O @) (>6i)

67. Who has used the term ‘hermeneutics’ to refer 67. FEECHFT @2 sifTerl Ao [Keiw=

to the method of cultural sciences? HNmfod CFG (F IR FCAR ?
(A) J. Habermas

(B) W. Dilth (A) . e
. Dilthey
B . Toertel
(C) M. Weber (B) ®4.
(D) C. W. Mills (C) <l ST
(D) ™. wg. fiem
68. Who has defined kinship as a system of dynamic 68. IS AT (F (P T2MIES Ffea0ed N
relationships between individuals in a community? T alfeN ool JRICCR ?
B) E.B. Tyl
®) Yoo (B) & f3. Goa

(C) G.P.Murdock |
(D) A.R.Radcliffe-Brown (C) f&. fol. o
(D) Q. 9. AWCFF-qMew

69. Who from among the following, has refused to 69. (& TIRVAE (TG Lo FIPTCRA
accept that stratification is based on economic factors ToF Om A0 B 92 O q@fEas qe W
only but saw it as multidimensional? AR 2

(A) Kingsley Davis (A) . (ofes

(B) Karl Marx )
(C) Talcott Parsons B) . THA
(D) Max Weber (C) . stz

(D) 9¥. SEAR
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70. From among the following who has stated that 70. MCOGE “TiFed Ao IR ARTPRAF
“Sociology as the science with most methods and FeNe] fed e’ BEE (@ Sifeize e 2

”f’
fewest results”? (A) @G3p. (AN

(A) Henri Poincare

(B) Max Weber (B) 3. G
(C) W. Dilthey (C) g, feema
(D) Evan Pritchard (D) 3. f2pre
71. Who is said to be the major architect of ‘Social 71. AN 2200 A4 207G (F2
Phenomenology’? (A) 3. DI
(A) E. Husserl
B) T&. 9.
(B) G.F. Hegel (B) T&r. . et
(C) A.Schutz (©) 4.7
(D) J. Schumpeter (D) (. (A5
72. Who has systematized distinctions between 72. S @ TEGIFHT-T NS R ifen

ideology and utopia as different kinds of belief system? 47 IR smfedm FEw & 2
(A) C. Levi-strauss

(A) 1. @Tfe-g
(B) G. H. Mead
B . .
(C) Karl Mannheim (B) f&. @2p. firw
(D) Alfred Schutz (C) . RN
(D) Q. e
73. Who has written the book ‘Structural 73. IO SelES 2807 (4 F 0
Anthropology’? ) B oo
(A) C. Levi-strauss ®) 4w ]
(B) A.R. Radcliffe-Brown . 1. ATCE-AE
(C) B.Malinowski (C) . wiffmfz
(D) E.B. Tylor (D) 3. R. o=
74. Inthe Gram Panchayet women reservation is to 74. SN LIRS VAW Tl AT A Zo—
the extent of— *) e
(A) Half
B “SWINe
(B) Two-third (B) 7R-gSHIRA
(C) One-third (C) aF-gerIcH
(D) One-forth (D) &ag_-@QﬁQxT
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75. Who has termed his approach as ‘Social

75. (& OF RS Swiies Sbaem (A 724

Behaviourism’ to distinguish it from the Psychological ANNfE v 2 biee s ?

Behaviourism?
(A) G.H.Mead
(B) Margaret Mead
(C) Karl Mannheim
(D) Havold Garfinkel

76. Who, from among the following, has viewed

(A) fe&. «3p. firw
(B) «. firw

(C) . MTEEN
(D) «3p. SR

76. “ANIfes SR Bed afee wesed Ze

Social Action as clearly involving intervention of biere FERMREE &2

thought processes?
(A) Vilbredo Pareto
(B) Talcott Parsons
(C) Max Weber
(D) C. Levi-strauss

77. Match List-1 with List-1I:

List-1 List-11
(Concepts) (Sociologists)
(a) Surplus value (i) Max Weber
(b) Social fact (i1) R. K. Merton
(c) Verstehen (iii)) Emile Durkheim
(d) Latent Functions (iv) Karl Marx

Select the correct answer from the codes given
below.

INRER&ISI
(B) f5. =™

(C) @. AR
(D) ™. e

77. SifeF->-93 Afee Sifeiwi-2-937 W& @2 ¢

©lferel-3 ST

(=iFel) (FTreTelfe)
(a) AFAM opls] (i) 9. SRR
(b) I FF (i) S, . o=
(c) CSADBEA (i) 2. gdiEw

(d) TE IR (v) .

& o L
A ‘?\535 (PIE[D Wb e S

Codes: (FIo:

@ O © @
@A) @ G G o @Gv)
B) ) @G @Gv) @
€ @) Gv) (@) )
D) Gv) () @@ (D)

78. The book ‘The Presentation of Selfin Everyday

(@ b © (@
@A) @ @) () o @Gv)
B) @) @) 3Gv) @
© G aGv)y @ (@)
D) @Gv) (@) @ ()

78. ‘W (ACICOHI 9 (T 34 @fEre iz agHa

Life’ is written by ool F 2

(A) Erving Goffman
(B) A. Schutz

(C) H. Garfinkel
(D) A. Giddens

(A) 3. T

(B) 9. %

(C) @2p. SNfFeCat
(D) Q. folteem™
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79. Who propounded the term, ‘Public Sociology’? 79. ‘ARl EREEe -7 Aot oe &2

(A) Anthony Giddens (A) Q. force™
(B) Michel Foucault (B) @¥. T
(C) Michael Burawoy

(C) @5, g
(D) Louis Althusser

(D) @1 SyieTed

80. Who has considered the contribution of each
element to the culture as a whole?

(A) A.R.Radcliffe-Brown
(B) E.B. Tylor

80. g AT 2ifsfb SotmitTa sramic ofde
A (F T IFEN?

(A) Q. 7. WCFF-qMe

(B) . . bzea
(C) B. Malinowski
(D) C. Levi-strauss (©) . wifemE
(D) F. e

81. Who has coined the concept of ‘functional

81. e FIGIoTe IRl Ko & Fra

alternatives’ in his structural functional analysis of e g9t o3 e 2
society? (A) Q. el
(A) A.Comte B) <. :
(B) H. Spencer
(C) Talcott Parsons (©) . =i
(D) Robert King Merton (D) . . Rl

82. From among the following, who is said to be the
principal exponent of ‘Structuralism’?

82. FFHAIET -9 24w 27 (T2

(A) . otz
(A) T. Parsons ®) @
(B) S.F.Nadel 0o
(C) C. Levi-strauss (C) M. @fe-3
(D) Alfred Schutz (D) Q.75
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83. Who has used ‘participant observation” method
in his study of tribes which overturned the evolutionary
approach?

(A) A.R.Radcliffe-Brown
(B) B. Malinowski

(C) James G. Frazer

(D) W.F. Whyte

84. Fromamong the following, who are said to have
used historical method in the study of society butin two
different ways?

1. Karl Marx
2. Emile Durkheim
3. Talcott Parsons
4. Max Weber

Select the correct answer from the codes given below:

Codes:
(A) 1and?2
(B) 2and 3
(C) 3and 4
(D) 4and 1

85. Which of the following statement is true about
statistical tests?

(A) ‘t test is applicable to only qualitative
variables.

(B) ‘t testisapplicable to both qualitative and
quantitative variables.

(C) y? (chi square) test is applicable only to
quantitative variables.

(D) %* (chi square) test is applicable to both
qualitative and quantitative variables.

X-22

83. ST 7iFelHE A FE SHAZ RS
ALEFRES Aafo Towifs ae A= 72
FE (2

(A) @. I3, ATFE-AE
B) 7. mfemiz

(C) ce. f&. Fena

(D) TF. €. (2126

84. G FifFe Sy Afextis oiwfors o foq
QT IR FCAMRE (F (F?

1. . S
2. 3 TN
3. 0. oz
4. G SR

13 (IeH o e ¢
ISR
(A) 19?2

B) 249R3
(©) 394
D) 49xx1

85. fawferie Ryfowfhm sy @mibmureifes A
CFa drey ?
(A) “t’ (535 (FIETIG /91 Do (FF(4 2T |
(B) ‘€ (57 woore @ “AfFwidsre Ty vecd
CFCq 4Ty |

(©) * (FRFAR) TF (@F<emig sAfsre
RS (TG 2T |

(D) y* (FZTR) G6 wolore @ AfFmieors
T DA (GG AT |




86. If data has been presented in form of an open
ended table then which of following statistical measures
can be calculated?

(A) Both Mean and Median

(B) Both Median and Mode

(C) Both Mode and Mean

(D) Both Mode and Geometric Mean

87. Who wasthe first President of the Indian Science
Congress Association?

(A) C.V.Raman

(B) W. B. Bannermann
(C) Gilbert Gibbs Bourne
(D) Ashutosh Mukherjee

88. “Itislegitimate power attached to the occupation
of a particular social role within an organization”. Find
out the appropriate term for the above definition from
the following options:

(A) Domination
(B) Privilege
(C) Authority
(D) Power

89. Given below are the two statements labeled as
Assertion(A) and Reason(R):

Assertion(A) : Measurement procedures must be both
reliable and valid.

Reason(R) : Good measures are those that are
reliable and are unlikely to be unstable.

Select the correct answer from the codes given below:
Codes:
(A) Both(A)and(R) are true, but (R) is not the
correct explanation of (A)
(B) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

X-23
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86. ERIRe @ Wrefes wAfas Fdma @Fa
SRR TSR TG A/ S 2202

(A) fm = ffam Texz

(B) fife ¥32 (e Tex

(C) (T ¢% i Towz

(D) (G U=k fremGs f Ton

87. 3T AIZH I WEPEHET 2424w Fololfe
&2

A) B fe. 759

(B) ©g. . W=
(€) f&. f&. arl

(D) SNeTeIT JAGH

88. ““«fS T (oI I T& (34 FTO! Tl @6 AR
T (@I G0 ST e Fom w7 |

e emelem ey (A @3 SR TAYE

sifqert N5 2 ¢
(A) i
(B) faferme
(C) =iaffo
(D) siteT=

89. T ﬁ{% (Assertion) 8 ZI% (Reason)-< C&J
TAF Bl T ¢
3@ (A) 2 ~ffawisi -mfe RedPlen @ [
G A= |

& (R) ¢ iAol e fegsiciey
@ oA 77 |
I (PS> 5 T 8
(A) (A) € (R) Towz 733 € (A)-3 & AF
[

(B) (A)€(R) T2 AT G (R) 2o (A)-a &)
3 At

(©) (A) ¥ 5% (R) ©=t
(D) (A) = % (R) 1105 |
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90. In which year of the following the ‘Bonded
Labour System Abolition Act” was passed in India?
(A) 1972
(B) 1976
(C) 1980
(D) 1985

91. ‘Concentric zone pattern of city growth’ was
propounded by—

(A) Max Weber
(B) Homer Whyte
(C) E. Burgess
(D) M. Ginsberg

92. Which among the following factors do influence
the social organization of the village?

1. The Caste System
2. Its closeness to towns

3. The existence of good means of
communication and transport

Codes:
(A) 1,2 and 3
(B) 3 only
(C) 1and?2
(D) 2and 3

X-24

90. A(TT FRF PIEOT SYREH =HF ©Re F©
AN SIS 222
(A) 1972
(B) 1976
(C) 1980
(D) 1985

91. ‘FICHGT (& Ao o< 6 (-a9 o<
&?

(A) 9G¥, STEAE
(B) 92p. (R
(C) 3. e

(D) @9, f&emratel

92. Jvd (I sl aie AMfes Ao e

(RPCeT 2
1. &re T3B!
2. *ZEF FFsafee!
3. I Q@I R @ i SAfFcEal
(1T 8
(A) 1,2,€3
(B) (F<eTI4 3
€ 1€2

(D) 283



93. Who among the following scholars has critically
examined the issue of capitalist development in Indian

agriculture?
(A) P.Bardhan
(B) A. Beteille
(C) U. Patnaik
(D) B. Bharadwaj

94. Match List-1 with List-1I by using codes given

below:

List-1
(Concepts)

(a) Urban movement

(b) Gated Community

(c) Ethnic Enclave

(d) Middle Class

Codes:
(@ (b
(A) (1) (ii)
B) () av)
© Gy (@)
(D) @Gv) (i)

®

(ii)

(iii)

@iv)

(©)
(iv)
()
(ii)
(iii)

List-11
(Definitions)

It is an area with
high concentration,
cultural identity and
economic activity.

Citizens attempt to
achieve some
control over their
social fabric of city
and the local
political process.

It is a maligned
group of people in
India and other
countries.

Where safety and
security are the main
concern to many
people.

(d)
(ii)
(iii)
(iv)
(i)

X-25

17-11

93. oiroR IRCFE@ wwoifges [Fem exfow

(A) 1. 36
(B) Q. (dei2

(D) . saare

RS (A7)
(a) S TS

ORRICEI NI

(c) ©dfF Qe

(d) TSres F

(a)
A) @
B) (i)
(©) (i)
D) (iv)

(C) TT. 2BIEE

(b)
(iii)
(iv)
(1)
(i)

TG GRS S FRREH &2

94, SifeTF-5-ag A Oiferl-2-99 f5ieT @2 ¢

©ifere-2 (v7ceal)

(i) 253w ol «fim B2
7B FACINCE I,
JeTHIIE e
USRI PES

= |

(i) Pibree™ =nGEa% §
w7ife AW FCHI
QO RE ETe
i o= 1 epie
@ A FTe
AGT |

(iii) 25 2& N TS ot
o1 foiolet 3w B

IS M PGS |

(v) @RI D e
e wia w izw
P G CIfel forsteT |

(© (3

(v) (i)
i) (i)
(i)  @v)
(i) (@)
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95. Match the following and select the correct
answer:

List-1
(Terms)

(a) Race

List-11
(Explanations)

(i) Their activities are
organized around
delivering personal
and institutional tasks.

(b) Minorities (i1) It is based on position
in an economic system
of production and
distribution.

(c) Service Workers (iii) are groups identified
by visible physical
characteristics.

(d) Social Class (iv) asaway of emphasizing

numericals differentials
Codes:
@ @b @© @
A ©»  @G) @) @1v)
B) G @G G Gv)
(©) @) av) @ (@)
(D) @Gv) i) @@ (@)

96. “The product of great individuals who are able
to produce work that appeals to a minority who can
appreciate work of this calibre.”

Which one of the following term explain the
above?

(A) Mass culture
(B) High culture
(C) Folk culture
(D) Popular culture

X-26

95, SIferpl-3-aq 3 Siferdl-2-a3 e (7 ¢
wfErm-s (ofFer) Oifere-2 (M)

(a) ©ifs () Repbiebe g
Sefiizee SAes
elerelfs ARENE
e AL
BT |

(ii) 253% (FTC O SAfEoTe
ECICICEECanIPed
PIEoY o1 (AT
Siciviseriof

(iii) =9 a4s o1
e foTrEze 2
fefeas fwrigsre
BN GRAIRIER

(iv) 9E @ 87T Wq
PR fNeifaas
oI |

(b) T

(c) “AfeR 5

(d) e ceifel

(@ b © @
@A) @ a) @) Gv)
B) G G @G aGv)
© @G @Gv)y @O (>
D) @Gv) @) @ ()

96. “M (2AMelF o[ (o 2fTToTRE™ 2 WK @3e §
(AT eRF i SfelEm § @ NwfRb e snwfBeEs
@F w1 et e 1

a4 SRl Srm [RYfo i w2
(A) e-gETs

(B) Tw-icHe

(C) @E-cghe

(D) w=ieR-vcgfo
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97. Which of the following is not associated with 97. SrRCe Wi #Ifsiest Nva @ aafs srnifFs
measurement of poverty in India? q?
(A) Tendulkar Expert Group (A) (ogee fResiaes QI

(B) Narasimham Committee (B) wafiee
(C) Lakdawala Expert Group

C) wielee fKeae FhHifG
(D) Rangrajan Committee ©

(D) F=Tee FED

98. Which of the following are the salient features 98. THUA st Sceeea f[ediw R Ryefs S
of Gandhian Model of development? &0 ﬁiﬁg(.\g oifowriere g ?
(a) Emphasison cottage industries, handicrafts and (a) FoaRE, 28R e m &g T |
agriculture.
g., _ . _ (b) T© NLANEE ST G SeoAme AIZE
(b) Socialisation of means of production for rapid
: ; eI |
socio-economic development.
(¢) Rapid industrialistion, technical advancement (© F\ G i Wf]fi 9, 21(\\(9\(3 TOETR IO Q<R
on the basis of free-market economy, ez Al Repleez fefers we e ¢ exfesrs
competitiveness and all-round individual 99N |

development.

(d) e Rdiaad @AE afel am s

(d) Decentltahsatlon qf functions and powers with g ogfREE e o R
each village acting as self-regulating and |

self-sufficient unit of development.
Codes: ISR
(A) (@), (@) and () (A) @, (@€ (©)
(B) (a) and (d)
B e
(©) (a) and (¢) (B) (a)€ (d)
(D) (b), (c) and (d) ©) (@< ()

(D) (b), ()¢ (d)

99. Who among the following created a typology of 99, fafeq siite fores-fafer” s bl & f[fen
gift-giving relations in different societies? G o a0 ?
(A) Marshall Sahlins (A) . =ifem
(C) Marcel Mauss
(D) Bronislaw Malinowski (©) &=
ronislaw Malinowski
(D) . ifer=

[ Please Turn Over ]
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100. Match the List-I with List-1I as given below:
List-1 List-11
(Environmental movements) (Leaders)
(a) Bishnoi movement (i) Sundarlal Bahuguna
(b) Chipko movement (ii) Pandurang Hegde
(c) Appiko movement (iii) Medha Patker

(d) Narmada Bachao (iv) Amrita Devi

Andolan
Codes:
@ ) @© (@
(A @G) @@ @GAv)  (ii)
B) av) @ @) (i)
(€ Gv) @) G @)
(D) @) @) @) @

X-28

100. ©/fem)-3-43 A Olferm-2-a3 W& @4l 2
oIfFA-5 OIfeTA-3
(A% ST (T9%)
(a) =g SCwieT (i) @1, q2Bdl
(b) Tooics! ercwieTe (i) 1. @ore
(c) S Swies (i) 9. *i5Fa

(d) Tl 518 S (iv) Syl @

(PIT 8
@ O © @
@A) @ @ av) (i)
B) Gv) (@) G (i)
© Gv) @) @G) @
D) @) G Gv) (@)
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